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Note: Write Answers fo the Cuesiions on the objective answer sheet provided, Four possiole answers A, B, C and D to each question a
e given.
answer you consider correct, fill the correspanding circle A, B, C or D given in froal of each quﬂﬁ? with Marker or Pen ink o [nfl. answe snc%]t pluv‘]ﬂhp
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MA-ACCESS w P A0 ~13
in ERC model, the relationship beiween the two entities is represented by a:
(A) Diamand symbol (B Rectangular box (C) Oval symbol () Line
In 3NF. a non-key attribute must riot depend on a (n):
(A) Non-key attribute (B Key attribute {C) Composite key (D) Sort key
The data in table is entered in:
(A) Design view (B Normal view (C) Data sheet view {0} Layout view
How many ars the layout of Form™
{A) 2 (B 3 Q) 5

Which of the following represents a collection of concepts that are used to describe thEWe of a base‘>
(A) Data warehause (B Data model (C) Data struct ( Data type

Insert command is used to insert:
\'\ Dependencies

A A new table (& A new record (C) A view

C-LANGUAGE l \\..__,__- b
The function getche { } is defined in: ~ \ \.\
(A) Stdio.h B String.h () "\ Mathh (D) r;umu ; ‘

Which of the following is NCT selection statement? LY —

(A) If (B Switch {G) Wihile
When condition never becomes false the foop becomes: \
(A} Infinite loop (B Continuous loop (C \\\ Finite loqp 1\_ d ,;:ﬁ)y
Function prototypes for built-in functions are specified in: L L
(A) Source files B:- Header files (C) \Ob{ect files 4mﬁge files
C language was developed in: >

\// 1 1977

(A) 1969 ()
To compilea C Ianguage program use

(A} F3
Which of the foﬂomng operator fizs the Iuwe:tggcm
(A) (B) ) +
The sym repre-;ems
(A) B signment operator (D) Logical operator
a/=
(A) (8 a=a/h )} b=b/a
The statemenbhat will immesjately ter
(A) Endfor ) End loop L) Exit for
The upper bound of 10 ;
(A) 0 : _?1 (€ 9 B) 5

wn'?

Which method caug

& re:
A Re / Set focus © Visible (D) Move
The prefix i men%

(A) (C) mne (D) Mn
|n a flow chart |nd|cates.

{A} lnput (B} Condition {C) Process D) Qutput

To exit visual basic:

{A) cri+Q (B Alt+T (C) Alt+Q D) Ciri+2

One can enter data in a control only when it has:

(A) Focus B Control (C) Tab order ) ask

The expression 3 mod 5 has a value equal to:

(A) 2 (B 3 (C) 1 (D} 0

The entire select case construct is terminated with:

{A) Case else (81 End if (C) End select (D) ., Stop select
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Wit short answers of any sb paits from the Tollowing (Ex2-12)
What is data redundancy? i Define *:ynunysr i Wnat is the role of data administrator?
How many primary keys can be defined in a table? v.  Why s list box used in form?
How referential integrity is attaine!? viil, What do you mean by IDE?
What is the use of query wizard? . How does a data base differ froma table?
C LANGUAGE
\Write short answers of any six parts from the following: {Brz=12)
What is high level language? i, Distinguish between compiler and interpreter.
WWhy the logical error is the most cifficult to frace? iv. Define syntex error.

Wrile the legal character for an identifier.
Rewrite the expression x+= 2, without using compound assignmeant uperato:
predict the output of the following code segment. Vil Find emor in the f io mg mdeﬁmn

int x = 13; Integer x, V, Su7 AN
inty =3 =X+

print of ("%d Y%d Wd”, % /¥, y, %, K%Y Pdﬁﬁ sum = %d", 2}
How is a file closed? \ e

1

(OR) VISUAL BASIC -~ U=
Write short answers of any six par:s from the following:
What is high level language? ii. nguish between compiler &i
Why the logical error is the mos: difficult to trace? iv. Pdfinagyntax er Sﬁ\,

Write the legal character for an identifier. vi. ine v?u:\use down ev -
What is mouse move event? ’{ it What is key up evey *ismr form ?

% D) B2=12)

0 Ohy\g/ code segment:
3,8 ="3

Y/ == ) (2 ==2)
Yes");

yyrite short answers of any 8! patis from the foll

Defermine output of Tollowing ode ag’men
Int n,a, b
n = 400;

printf (“No");
WriteAQllowing statement in G

E])l Guage.

/ mperature is between 25 and 35.

M Difierentiate between while and do while loop.
. Whatis nested loop?

Wh ayépﬁm\f breal is

What is the use ofscanf () cii

Gonvert following ¢od nw%

fnre =2
Do
Print f(“%d"
While (€ 51 /
% % {OR) VISUAL BASIC
W it 15 of any sif parts from the following:
What ale Active X control ii.  Detine command button control.
pefine procedure level variable. i. Whatis the purpose of “saption” property of control?
Which tunction loads & picture at run time? v, What i meant by avent procedure?
Deling” locked” property of textoox. vii, Difterentiate between image and picture control.
Define combo DoX control. .
SECTION-H
Attempt any cne question from ihe following: (M.5 ACCESS) (Br1=8)
Expiain features of database manayement system. 6. Whatis ER diagram? Glve an example of ER diagram
SECTION-I!
Attept any two questions eithe! from “C-Language” of “fisual Basic". {Bx2=16)
uC.Languag:” “Vigual Basic”
v & o }
o s g s T S i Fratne.
Write a program in C-Iangiuage which prints the sum of the 8. Write a program in VB whmh prits the sum of the
following series by usmg oop following series by lusm?L loop: .
1+ e 4-+ ~1— 1+?+q+1+ - 15
Briefly descrioe he pmcﬁss 01 w{mng a ;uncﬂun in C-language 9. Briefly describe the process of writing 2 iuncﬁon in VB
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